





Ed T e

oAl oA B O® BfI =} fis
ERTT
#EHIT
#EH T—Jv m3 29.8
L FIER t=200 m3 131.9
BtT
Bt 4.0=W m3 288.4
1wt m3 246.8
Bt REL m3 503.8
FEERT
EEER REtiEm m2 437
HLnET
T AR - E R xt m3 131.9
EET
ET
R BIim AIRE m2 437
WEEET
EDIE- 1
avyy-k 18N/mm2 m3 8.2
B m2 29.7
tgLavy-+ t=100 m3 1.2
T
fEXT
EmEIF m2 28.2
#tT
#witonyy H=500 m 80.6

1/3




HELFHR

oAl oA B O® BfI = fis
HkBEYT
E¥+T
RYE INSRE m3 12.0
BRL INRAR m3 10.4
HEmEEIE m2 44.4
fiET
LERIE 182508 m 47.0
LEMAE 1¥8250B AR m 336
ERET
HE $150 m 9.5
IBEE @200 m 9.0
Sk T
oK B600-L600-H700 5Ll 2.0
e SEA JL-F9 600A| 2.0
ZEKI
%kO &ERT 1.0
BEYRET
BEMEEL
a1 —bk m3 28.8
e
T A7 )L EZERR t=4cm m 71.5
SHEmEE
T A7 )L EZERR t=4cm m2 153.0
BOE - 0
AV —hak o) —k m3 288
FARAIT7IL bk m3 6.1

2/3




MEBRE R

E Al oAl I BT = &
WET
HiE-REHE
TREmRE RC-30-t=110 m2 497.9
B M-30 - t=70 m2 497.9
=B BAZTHEA (13) - t=40 m2 497.9
HESHE
iz g RC-30-t=100 m2 68.6
xE BAETHEAs (13) - t=30 m2 68.6
BEL
(GE Ja
EmEIFE m2 12.9
SEERRA IO VY
1RSHEERRA IOy |M@ER CfE m 17.0
RSEERR IO VY |FER BfE m 8.7
WmEER IOV
wERERIO VY 150 x 150 x 600 m 230
RE#RT
X B
RA v FRRERR B - w=15cm m 1935
ST
INEUEE T
B RRIR AR H=700 ¢ 60 G 20

3/3







B o+ T






B OB b TG

T FE & Bl L1l pST A S BN & ==
EKLET
PR T JEH (H#D) F—T m 29.
7%+ R H £=200 m’ 131.9 }HEIZk 5
AT RS+ 4. 0=W m 288.
A m 246.
B+ BE+ m’ 503.
EREETE L IS R m” 43.
BT TEH #z+ m’ 131.




e L TR R R

e 10m> V) g XN
il T  ff HAL | & i %iﬁé P %%giﬁé
ik T
ik~ = v 7 H=500 m 80. - - 3.5 - - 28. 2
=t 0.0 0.0[ 28.2
PR S T
LIZME 1762508 m 47. - - 5.5 - - 25.9
upsEARS 47 1 FE250B m 33. - - 5.5 - - 18.5
ALK B600-1600-1700 | {5 FIT 2. 6.0 5.2 - 12.0f 10.4 -
=t 12.0] 10.4| 44.4
&AL
g7 a 7 18 m 17. - - 2.6 - - 4.4
sy, QR m 8. - - 3.1 - - 2.7
HWHBER T v m 23. - - 2.5 - - 5.8
=t 0.0 0.0 12.9




L C¥ 8 '9¥¢ T "88¢ 8 6% 0% "8¥1 e
9°6¢ el
60 (01720] 70 0€ 2 0¢ "¢ + L °ON
70 L 'ON
9°0¢ 0TS g1 G ¢y G2 L L6 — — 009 009 + L'ON
06Vl |97 L L’8 8'Y — — 00 02 L 'ON
¢9 9 'ON
61 (03720] 70 9°1¢ 09 ¥ 8'Y 0LV L 'ON
__@ 9 S3 720 70 L9 (Vi727 vy — — 0¢ 'Sl ¢ 04
__o 0T 0G0 g0 099 0€°¢ ¢9 0°'¥8 0C ¥ vy — — 00 02 9 'ON
0°11 GG 0 G0 70 0°¢S 69 ¢ 0y — — 00 02 G 'ON
9°0 ¢l ¥ "ON
¢l 02°0 70 08 'S G 'ON
0¢'¥1T + T °ON
— — c'1 0T 0 1°0 09°11 09°'1T + ¥ 'ON
0°¢l G9°0 9°0 — — 061 66 °0 ¢l 0°¢ ST 0 1°0 00 02 ¥ "ON
L0 9°0 ¢°0 00 02 ¢ 'ON
— — — — — — — — 00 "0¢ ¢ 'ON
— — — — — — — — 00 02 T "ON
— — — — — — — — 0¥ "¢ 0 'ON
0¥ "¢ - 0'ON

cw  HUglfraf HYEUG I W EUglrok HYEUG I ew EUgrk BYEUG I ew EUgr ) By Eg
vk S i
2 5 T + + X 1L iEG

FEREERT AR







% om L






TR

T

5l

L

B

HAL

il

L1 L

AT

AN LR

43.7




L eV 0V "8¥1
|
60 0r0 Vo foge Lo
¥ 0 o
- - 009 o
- - 00 08 o
"ON
61 ovo yo  foly Lo
0701 0870 80 000z 9 oN
0°11 GG 0 G0 00 °0Z .
00 ¥ "ON
- - 08°G o
- - “ON
0911 -~
0°€1 19970 970 ]i00°0z -
L0 00 "02 € 0N
- - 00 08 —
- - 00 "0 o
- - or 'z o
"ON
cw g B
el vk Lo S it
=k

FHAEER LI










B BE T 4E 3} K

o Il B WA B =

EREE
FAOXPERE | a7V — | 18N/mm2 m3 8.2
U m2 29. 7

BLarsJ—~ t=100 m3 1.2




BEuMETFESZ

Bl B BEEE

O INEBIE
11300
2450 8850
300
Hiafl
_ \
) \\ avyy—t
HEE ' A\ /(o ck=18N/m2)
= I\
a e
| : \
4 \ S 47 :
‘ gLavhy—k
- 1 B 100 (o ck=18N/mm2)
B+200
2.450 8.850
A=0.473 A=0.473 A=1.120

OB/ B B = AL &
HiLarrz -k 3
=100mm 0. 95%2. 45+ (0. 95+1. 30) /2+8. 85%0. 1 m 1. 228

M 1] —
:1“/f7) t 0. 473%2. 45+ (0. 473+1. 120) /2%8. 85 m® 8. 208
o ck=18N/mm
TR (NS ) 0. 473+1. 120+ (0. 9%2. 45) + (0. 9+1. 6) /2+8. 85+ (0. 9%2. 45) +(0 2 29. 69

.9+1.6) /2%8. 85%1. 118




w1k T






o1k T R R

T f& fiE Rl mooml O BT s It
Bk 1l T

B¢+ T J T E m2 28.2

$FkIE T A= H=500 m 80. 6




BEuMETFESZ

MMooBl o EKIED

OB 10m4 v
\ ‘\\
| | i
I o
|| ™ o
I o
“.\ ‘\ Lo
|
a S
r’" N
350
BOoBE /B R B = AL % =
g1k 67 mys  H=500 m 10.0

H e 0. 35%10 m? 3.5




K & ¥ L






P K HE 0 T A &
T Ff B HmoB K HAAT & [
PEAKREE L

B+ T R SN m3 12.
MR IINFRAEL m3 10.
FL IR m2 44,
R T LIEARI 1552508 m 47.

LIEAR 1ffi250B -AZ A 7 | m 33.6 |3.6+6.0+8. 0+8. 0+8.0
BIRT BE ¢ 150 m 9.
AL =% ® 200 m 9.
LK T AL K P B600-1.600-H700 AT 2.

HaE H

P& 77 Vv=F/17 600 ¥ 2.
%K L KO ST 1.




BEMN#HEFESE
Bl : LA

B 10m%4 v
0.45
0.10 0.25 0.10 ARV -bLRZ
1¥&250
= = o L Mﬁ}}, /! ol
; wots .
BEILAIL
e 910 0.45 ERFE (RC-40)
0.55
woRE/ H O =1 =Y ==¥iva ¥ =
LI 1782508 m 10.0
H A IE 0. 55%10 m? 5.5
WENALZL 1:3 0. 45%0. 03%10 m® 0.135

A RC-40  t=10cm |0. 55%10 m? 5.5




BEuMETFESZ

WoOB s Bk
#H ¥ : G1-B600-L600-H700 1 &S Y
2.900
1.000 0. 900 1.000
900
1000 150 600 150
50 900 50
150 600 150 \7 '_\HHH\HH\\ 7777
2 o \ g 8 Nov—soom /.
§ 3| s g % . avyy—+
ERRE
gl ® Q 50 900 50
1000
0. 500 0. 900 0. 500
1.900
Mokk /R H =Y AT I &=
FEREA )
RC—40, t=150mm 1.0%1.0 m 1. 000
a7 J—Fk 3
& oke18N/m? (0. 9%0. 9) *0. 85— (0. 6%0. 6) *0. 7 m 0. 437
TP VNS E) 0. 9%0. 85%4+0. 6%0. 7*4 m? 4.74
77 V=F)" #600 X 6004 HIE % 1
EELT
PRI (2. 9%2.9+1. 9%1.9) /2%1. 0 m° 6.0
HEC 6. 0— (0. 9%0. 9%0. 85+1. 0%1. 0%0. 15) m® 5.2







W E Y R L






G W R LG R

T 7 fiE Rl Il O BT ¥ &
fE s 1

FEEREE LU | #ipar 7 U — b m3 28.

SHERER 7y 7 | m 29.

UF-200 m 27.

R T oy s m 14.

| A=/ m 38.

a7 Y — NfERE m 28.

BRI YIWT |7 2 7 7 S EhERR t=4cm m 71.

SHEERRE R | 7 2 7 7L MR t=4cm m2 152.

TRIEM  AERE | 2 ) — Rk B U — b m3 28.

T AT 7 IV Nk m3 6.













¥ LB K

fiE Rl Il O BT 2

HOHE - B JE S T B A RC-30 t=110 m2 497.9

e M-30 t=70 m2 497.9
HAEBERIEAs (13)

eS| t=40 m2 497.9

SR IEERAE fars RC-30 t=100 m2 68. 6
HAEERIEAs (13)

e t=30 m2 68. 6




989 9'89 6 L6V 6 L6V 6 L6V 0L °L€T L8
1°12 1°12
LY §LY V061 V061 061 iERS)
— — 9L 006 0°¢ Jg9L 00°G 0°¢ 9L 00°G 0°¢ JoeST € 0d
— — 0°00T 00°S 0°S [0°00T 00°S 0°S [0°00T 00°S 0'S  [00°0Z 9 0N
— — ¢ 00°G 0°¢ € 00G¢ 0°G g€y 00 0°G  [oL'8 S ON
— — S€V s8¢ 0°¢ |s€r g8'€ 0°G [ger g8'€ 0 [0l ¥ "ON
— — 0% 02T L% Jo¥w 02T LT [o¥w 02 LT  [00°02 ¥ "ON
— — L L LT 00708 € "ON
— — — — — — — — 00 02 0N
— — — — — — — — 00 02 T°ON
— — — — — — — — 0V ¢ 00N
0v'z - 00N
gu gw ¢ Hifgd 8 Bl cw EifgAc
Lk el
(Bhfr) B(¥ (BlH) (¥ (Hldr) FoA R (HCH) FRsl B

EHEEF TR










% A L 4 5 &

T f# 7l STl R BT =% i
L
B2+ T FEH#EOE m2 12.
BHEBER T 0 173 MR CHf m 17.
BAEER T 0 Py} F @R Bff m 8.

R T ey s

150 X150 X600

23.




BN ETEE
Mool o BEEER e

H ¥ : WER CE 10m4 v
180
SEEERIJOYY
mmER Cf&
B
2
o N
8 \
8
| =
(0 G0 g
1:3)
3
50 210 “(rG-40)
260
woRE/ H O =1 =Y ==¥iva ¥ =
BSHGEEE R 70 v 7
WimER Cff N 16.5
S )
RC-40, t=100mm 0.26%10.0 m? 2. 600
FEL X V103 t=20mn 0. 21%0. 02%10. 0 m? 0. 042

TR m? 2.6




BEuMETFESZ

Mool o BEEER e

# ¥ . FHER BE 10m34 v
180
SHEEERIJOYY
F@ER BiE
4
N
2 | 3
‘w <
0 () 8
5020550‘
305
woRE/ H O =1 =Y ==¥iva ¥ =
SEEEER T T s
JriR BfE Z 16.5
S )
RC-40, t=100mm 0.26%10.0 m? 3. 050
FEL X 1103 t=20mn 0. 21%0. 02%10. 0 m? 0.041

F A IE m? 3.1




BEuMETFESZ

WooBl o HUEERT v

H OB 10m4 v
150 HEER T v
150 x 150 x 600
o
Lo
o —
o O
= BEIILZI
1:3
R
RC-40
250
woRE/ H O =1 =Y ==¥iva ¥ =
MR T e v s
150%150%600 & 16.5
TR ‘
RC—ZO, t=100mm m” 2.500
FEL X L1103 t=20mn 0. 25%0. 03%10. 0 m? 0. 045
SR IE i 95










<O R AR EE K

T f& fiE Rl mooml O BT s ==
X E#R T
X JE ~q R M W=15cm m 193.5 |96.6+96.9







=k L






i - W=
T f& fiE Rl mooml O BT s It
a1
SNRIFESE T | JE A LA H=700 ¢ 60 T 2.0







